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the circle 8iven by the €quation 2 , v+ dxi— 8y +4 < 0.
ar
@ - Fing the lengeh of the tangen, fro the Point (3:8) 10 the cirgj Whoge €quatiop jg 8lven j,
Questiop 3.(a). (03 Marks)
‘ )
1; \Up (a) Prov; that
| Sin(A - g, + SinB_c + Sin(C_ 4 s 02
i COSA cos €0s Begs o €osCcos 4 { )
|
I
‘\ (b) Solve for x :Ttan(cos' 'x) = sin (tan"'2) (04 marks)
| .
1i 54 - (@) Using Synthetjc diw‘sion fing g Value of 8iven that the polynom:al
| P(x) =3, ox® — 2ex + 4 is divisip), byx - (02 Markg)
| (b) The XPressiop 53 Gaxst € gives the Same feMmainde, Whep divideg byx + orx -3
:. Shoyw that
]f
f M avy . -3
(ii) Find if the ©XPpressiop leayeg the ‘Maindey of 7 hen divided by x _ 1. (0. Marks)
v (@  sp, that the “quation 3,2 _ 10x - 15, 8 T®Presenys , Parabg), (03 rks)
(b) Ind the €quatiop of the langen, througp, the Poing ( 2 2| o the ellips
: V2
8x*+ g =72
¥ (03 Marks)
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7. (a) Find the values of z for which 12 c&shzz +7sinhz =94 (04 ks)
= ) mar
-— > d 2 -
(b) Ify=Acoshnx+Bsj 1k
’ nhnx, prove that —° = nfy. (02 marks)

161-170 | 171-180 | 181190 191 -200

11 9 5 1

(a)  Using the assumed meap A, calculate the actual mean height,

(b) Calculate the Standard deviation of the distribution. (06 marks)

(1) 2 or more will be defective.

(i) More than § will be defective, (06 marks)

10., (a) Express sin 50 and cos 50 in terms of sin 8 and cos 8 and hence show that: L
: 5tanB-10tan’ 6+ tan® ©

tan56 =
1+5tn*® - 10m@n’0 (05 marks)

(b)  Write the complex numberz = x + iy in polar form. (01 mark)

SECTION B (40 marks)
_Answer four (4) questions from this section showing all necessary steps and answers.

! - .
\ -2 z+
11. () Given the equation of a line as XTH = y—l = 5
that contains the point (%, 0, 3) and is perpendicular to the line which is both parallel to the

vector 2 i — j +3 k and passes through the point (5, -2 ,4). (04 marks)

0
» find the equation of the plane

(b) (i) The position vectors of points Pand Qare 3i + j + 2k and s gis 4 k
respectively. Find the equation of the plane through B and perpendicular to AB .

(04 marks)
(ii) Find the vector equation of a line through the point A with position vector
Hi=i3i — 2.+ 3 k andparallcltothcvoctor_h; =AY F = 2%,
(02 marks)
I 2[ 3
12. 4 ()  Find the inverse of the matrix A if A = [2 -3 2 L (05 marks)
31 -1 ¢
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